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QUESTION 1

A customer needs a wired network solution that can recognize and prioritize a wide array of different types of traffic,
including casual Web browsing, voice, video, SAP Online, and file sharing. 

The architect needs to choose between the Aruba 2930F or the 2540 Switch Series for the access layer switch. 

Why would the architect choose the 2930F rather than the 2540 Switch Series for this customer? 

A. The 2930F Series supports LLDP-MED for detecting VoIP traffic, while the 2540 Series does not. 

B. The 2930F Series supports advancing routing, including multi-area OSPF, while the 2540 Series does not. 

C. The 2930F Series supports more options for class-based QoS policies that the 2540 Series. 

D. The 2930F Series can provide better congestion management with its much deeper buffers. 

Correct Answer: D 

 

QUESTION 2

A customer currently has an Instant AP deployment. 

Which customer requirement would indicate that the customer needs to add a controller to the deployment? 

A. the requirement to apply role-based firewall policies 

B. the requirement for a captive portal for guests 

C. the requirement to provide client-to-site VPN acces for remote users 

D. the requirement for a cloud-based management solution 

Correct Answer: D 

 

QUESTION 3

An architect proposes four 7210 Mobility Controllers (MCs) to support about 1,500 client APs. The customer
environment will have a maximum of about 20,000 wireless clients. The customer wants hardware MMs with an active
and standby deployment. 

What is the minimum solution that meets the customer requirements? 

A. two MM-HW-10K appliances 

B. two MM-HW-5K appliances 

C. four MM HW-5K appliances 

D. four MM HW-10K appliances 
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Correct Answer: B 

 

QUESTION 4

An architect plans 12 APs for an auditorium that is 325 square meters (3, 498 square feet). Each AP has 

one 2.4 GHz radio and one 5 GHz radio. Both types of radios use 20 MHz channels. 

Assume that DFS channels can be used in this design. 

How many 5 GHz collision domains does this design provide? 

A. 1 

B. 6 

C. 12 

D. 25 

Correct Answer: B 

 

QUESTION 5

What should an architect use as a guideline to determine when to define another VLAN for wireless devices? 

A. the WLAN or SSID, with a different VLAN for each SSID 

B. the AP deployment, with a different VLAN for each AP that is deployed 

C. the number of devices, with a different VLAN for each 250 devices 

D. the employee roles, with a different VLAN for each role or department 

Correct Answer: D 
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